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(&)

T YT IR AETeI |
el fawerars et faea (O) Fmeer | [22x1=22]

Encircle (O) the correct option.
X &I afeh U [AeTeAr 5 "earsar wid &8 ?

What is the result when 5 is subtracted from the one third of the square of x?

WWABWW@IWWWWW@?(HZZ—;)
In the given figure, AB is the diameter. What is the area of the shaded region?

(@ 22cm? (b) 44 cm?
A . B

w

() 77cm? (d) 154 cm?

STl 50 qUITge! IS 40 HF TS | S Bl IAA AGH TGS ?

Dolma obtained 40 marks out of 50 full marks in an examination. What percentage of marks

did she obtain?
(@) 40% (b) 50%

©) 80% (d) 90%
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¥. 500 @E A T B & H=AT 2:3 HI FIIGHT qigal A & B AT T &9 96 7

Rs. 500 is divided between A and B in the ratio of 2:3. How much less amount does A get than
that of B?

(3 Rs.300 (b) Rs. 200

(c) Rs.100 (d Rs.10

b2+ b+ 13 b*- b TEAH THIEAA (A.9.) FT &S ?
What is the Lowest Common Multiple (LCM) of b?> + b + 1 and b* - b?
(@ b*-b+1 (b) b(b*-b+1)

(c) b(+1) (d) b(-1)(b*+b+1)

500 gm T 1 kg &t ST HA g ?
What is the ratio of 500gm and 1kg?
(@ 51 (b) 500:1

() 12 d) 2:1

a« feguemer 50,000 H AwiE IgPT FT & ?
Which of the following is the scientific notation of 50,0007
@ 5x10° (b) 5x10°

(c) 5x10° (d) 5x10°
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10.

11.

5, 15, 20, 10, 25 T i &iq g5 ?
What is the median of 5, 15, 20, 10, 25?
@ 10 (b) 15

(c) 18 (d) 20

THHT APQR T & (h) =5 cm, smeR (b) = 4cm & | 8 (p) Bl T B §S ?
In a right angled APQR hypotenuse (h) = 5cm, base (b) = 4cm .What is the perpendicular

' ?
distance (p)~ R

@ 1cm (b) 2cm 5 cem )

(c) 3cm (d) 9cm

4 cm

3X - 4y AT 5X - y TATST HA S T ?
What should be added to 3x - 4y to make it 5x - y?
@ 2x+4y (b) 2x-3y

(c) 2x+3y (d) 2x+57

ARSI y = 7X - 9 /T X = 2 9T y &l AIF H( &7, ?
In the equation y = 7x — 9, what is the value of y when x = 2?

(@ 5 (b) 23

© = (@) 14
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12.

13.

14.

15.

Ife qurgens &, 600 N TIAT fpara =t 10% g2 fagd W qurdsr A feame et #fa @
WIS &8 ?

If you are given a discount of 10% on the purchase of a book of Rs.600, how much should you

pay?
(a) Rs.60 (b) Rs. 540

(c) Rs.590 (d) Rs.610

T 1 ¥ 60 for.fr. SIGEE | T g% e A ¥ B @ e sfad 3 6 a.f =
qr g WHEeH! arta® g Hd g7, ?

Onamap, 1 cm represents 60km. The distance between two places A and B is 6 cm on the map.

What is the actual distance between these two places?
(@ 10km (b) 54 km

(c) 66km (d) 360 km

feguept Ferara AT TR AT AHESH! B BRAT SINEE

Which set operation does the shaded part represent?
(@ AUB (b) AUB U

) AWB (d) ANB @

8,10, 11, 12, 14 &t weas Hid &4 ?

What is the mean of 8, 10, 11, 12, 14?
(@ 10 (b) 11

¢ 12 (d) 13

ot (M1-B) 6



16.

17.

18.

fg A (3, 3) ATs 2 TTg 1T T 6 TH(S q [9¥ATq &I g SYe® FA af ?

Which of the following is the image of the point A (3, 3) after translating 2 units right and 6

> X

units down?
Y
A
(@) (5,-3)
(b)  (5.-9)
(©) (-5, 9) X<
d) (-5-3)
\
v

AAFTHE FA AHAoSEF 33’ — 48h? FT PEUSEE QSIS 7

Which of the following represents the factors of expression 3a? — 48b%?
(@ 3(a+4b) (b) 3 (a-4bp?

(©) 3 (a+4b)(a—4b) (d) 3 (a+ 16b) (a- 16b)

2 YT AT 10% i T AR SATSEIAT €. 5000 AT TR AT G FiT 576 7

What is the simple interest on Rs. 5000 for 2 years at the rate of 10% per annum?
(a Rs.100 (b) Rs. 500

(c) Rs. 1000 (d) Rs.1010

o (M1-B)0 7



19.

20.

21.

22.

B (2,7) T C (-2, 3) Sraal T HIT &7 ?
What is the distance between the points B (2, 7) and C (-2, 3)?
(@) 4 units (b) 2 units

(c) 42 units (d) 24 units

AATTFR FAEH! FABA IAT AMST GF HA af ?

Which is the formula of finding the area of a rectangular surface?

() A=wwE + e (b) A= (s X Ster)
A= length + breadth = —; (length x breadth)
€ A=2@=TE X HeER) (d) A=vwTE X 9reTE
A= 2 (length x breadth) A= length x breadth

A p Q
feguar ST P sies & TS STERAT e B 7
By which axiom are the following triangles congruent?
B C R
a. q.%.9, (R.H.S) b. @B (AS.A)
c.  S®H (S.AS) d. A (SS.S)
=T X & A/ FHA 7 7
What is the value of x in the given figure?
(@ 70 (b) 110 - /
] 110°
_ X
(c) 180 (dy 250 - /

o (M1-B) 8



23.

24,

25.

26.

217.

)

28.

el SIGAT FET IR AETRI | [5%1=5]
Write the correct answer in the blank spaces.

IlE TIer 9ot 70 fpare gl ¥ 50 AT fFAR 60 T THT F=U7 A9 SHB! STHAT ATHT
B e T8 |

If a shopkeeper bought 70 books at Rs 50 each and sold them at Rs 60 each, the profitamount

ISRS «oe

fewsr Femr ZAOD &t faudia <fifegE @ror . Gl
In the given figure the vertically opposite angle of ZAOD is
AN SEITEe SRR AT BISSIeTE ..,

The triangle having all sides equal is called ...........cccccccocoeeeeieienennn
AT 96T afsremssies 22+ XY+ V3t &Y oo T4 |

The degree of the trinomial expression 2x2 + X%y + ¥31iS ......ooiiiiiiieiiieninnns

TSI FATHR FEITH! SR THITg 8 CM & | IO TE@TBl ATTAT oo CECGAT Al

The length of a cubical box is 8 cm. The volume of the box is ...................c.l. cubic cm.

qAHT JYFeeH Jax feqerdq | Answer the following questions.

17 @ fasmar ag@es® Tgfaar seegere | Convert 17 into binary numeration system.  [1]

o (M1-B)0 9



29. TSI AT W AT TSR | [1]

Draw a figure of net of a cylinder.

30. SEHEAT 5X - 4> 16 @€ & THEI | [1]
Solve the inequality 5x - 4 > 16.

v (M1-80 10



31 feguet fes@r AB//CD X /GHD = 70° T ¥ ZAGH @ |19 9T SIS 1e i | [1]
In the given figure, AB//CD and ZGHD = 70°, find the value of ZAGH.

32. fag A(4,0)IB (0, 3) rrah! T T AMSTRI | [2]

Find the distance between the points A (4, 0) and B (0, 3).

T (M1-8n 11



33.

34.

g e | (Solve)

fegust fee g TRET AT S e |

Find the area of shaded part in the figure.

T (M1-Bn 12

10cm

| 5¢cm

[2]

[2]




35. & TS IR AP IR AIeER G | qfg feriiewedl AT 30 MY Y HEEITes TNl SISEI |

A number is twice of the other number. If their sum is 30, find those numbers. [2]

36. W@ o TS |9ey % 42,000 Hr fFr | afe 9 15% FIRT TSI A19eT 94T WA [T

HT Hia &t ? Mohan bought a laptop for Rs 42000. If he sold it at a profit of 15%., what is
the selling price? [2]

T (M1-B0 13



37.

38.

TR A | (Simplify): 2]

X2+ 6X+9
x2-9

A HITEE & 24000 TR T | ST ATHRAT AR=TEe 20% GEHT, 25% Rramar T 10%
AT G T, A ATGATHT FHiT IHH T TS 7 [2]

Raju earns Rs 24000 per months. If he spends 20% of his income on food, 25% on education

and 10% on others, how much rupees does he save in a month?

Tt (M1-B0 14



39.

40.

IS T | Simplify: [3]

80 +41[400 =+ {7+ 3}]

FHE dHAT ACHT 10 ST AHES TS @ 2 fE7971 @ a0 | SRIER GHYT FH &M Sel &Harsd
4 SN ST @ BT G @ qEe [2]

10 people of can dig a field in 2 days. In how many days do 4 people of the same efficiency,

working the same time in the same field can dig the field?

Tt (M1-B0 15
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